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'Fill in the blanks :

(i) The electnode of a tube from
electrons are emiued is called
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where the

In vacuqm tubes - - emission is used.

An electronic device that converts AC into
DC is called o 
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(iii)
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(iv) A vacuum diode conducts rxrly when prateis -_s__ rv.r.t" cathode

(v) For half wave recti{ication _*_*._
diode is needed. 

v_frv* vacuurn

(vi) 
Y*o 

fbr amprificarion nrusr hsve
8trid.

(vii) For faithful amplification,
rnust be kept at
cathode.

(viii) A serniconduetor has a *--._ ternperature
co-efficient of resistance.

(tx) In a &ansistor, base is rnade very %_.
(x) Class

-- 
power amptifier has the, highest collector efficieney.

(xi) The rast stage of an audio arnptifier is cared

(xii) A capacitor circuit does not atow passing

--_* 
componenh.

the control grrd
potential w,.r.t
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(xiii) Negative feedback in an amplifier increases

the ._-- of its voltage gain.

(xiv) To obtain undamped oscillations

feedback is necessary.

(xv) trn a transistor, is made most highly

doped section.

2. Select the corro.'ct answers in the following ,

I x5:5

(i) In an NPN transistor with normal bias

(a) Only holes cross the collector junction

\ (b) Only majority carriers cross the collec-

tor junction.

(c) The emitter resistance has a high

resistance.

(d) The ernitter junction is forward biased

and collector junction is reverse biased.
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(ii) The s'icon transiston are more widery
than germanium tnansistors because

(a) They have smaller leakage current

(b) they' have better abitity to dissipate. heat.

(c) Th"y hale smaller depletion layers.

(d) They have larger current carrying
capacrty.

efficiency of class B

O) ?8.s%

(d) t00%

(iv) In push-pur-r 
-amnrifiers, usuaty biasing isnot required because

(a) DC battery'V". is employed

(b) power 
{ansiston do noJ require biasing

(c) Heat sink is used with the transistors

(d) Transistors are working in crass Boperation.

7OlEt-3MtEEtE t^\

(iii) The maximum
amplifier is

(a) so%

(c) 3s%



nJ.

(v) An oscillator is a

(a) R.okting device

(b) Static electronic device

(c) Rotating electronic device

(d) Electro-mechanical device

State true or false : .

(i) To be a good emitter the cathode
strould have lbw work function.

I x5:5

material

(ii) In a transistor, there are three pN junctions.

(iii) when PN junction is forward biased, it
offers low resistance and rarger current
flows through it. '

(iv) In transistor circuit, IE : I, * pL

(v) Avalanche breakdown in a crystal diode
occurs when reverse bias exceeds a certain'
value.
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